Math 002-34, Quiz5 (9.1, 9.5and 9.7), Term 132, Instructor: Sayed Omar Pagel 30-Apr-14
SN ID NAME
Show all necessary steps for full marks.

Question 1: (7 points): (9.1 Recitation Q#1): If (a,b) is the solution of system of equation

32x - 43y =-6

22x+ 33y =13
Thenfind a-b =?
Solution:

—2(11y

3W2x- 43y =6 () = -6/2x+ 83y =12

2v2x+ 33y =13 () W 6ax+ 93y =39 - A
17 =5] > y=—r=—""=43
By =5 TN I

() = 2V2x +3J33=13 = 2J2x +9=13=2J2x =4=2x =2 =%:m

The solution is(ﬁ,\@). The solution set is SS = {(\/E,\/g)}
Then a-b =+/2-/3=+/6

Question 2: (7 points): (9.5 Textbook Exercise 12):

. . _ =Xx>+6X+9
Find the solution set of the system of equations y=xoaexs
X+2y =-2
Solution:

12. y=x"+6x+9 (1)
i+2y=-2 (2)
Algebraic Solution:

Solving equation (2) for y, we have y= "1:.!_:.

Substitute this result into equation ( 1).
%‘2 =x* +6x+0
—x—2=2x" +12x+18
0=2x" +13x+20

|:_.t'+‘-1-]['2.r—5_:|=0=bx:_ial'_r:_%
If x=—4, then v= il
-|-&}-2
=_3 P T T e
If x=—3, then y=—F5—="3=4.

Solution set: {(-4.1), [—%%|}
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Question 3: (6 points): (9.7 Exercise63): | 2 -1 0 |1 2 -1|=?
4 -2 3|3 2 2
Solution:
63. A 3x3 matrix multiplied by a 33 matrix results ina 3x3 matrix.
-2 -3 -4][o 1 4
2 -1 011 2 -1
4 -2 3|3 2 =2
() ()M +(=4)03) 2+ (B)2)+(=42) 2(4)+(3))+(=4)(-2)
=1 2(0)+(-1)(1)+0(3) 2(1)+(-1)(2)+0(2) 2(4)+(-1)(-1)+0(-2)
4(0)+(=2)(1)+3(3) 4(1)+(=2)(2)+3(2) 4(4)+(-2)(-1)+3(-2)
0+( 3)+(-12) —2+(-6)+(-8) -B8+3+8 -15 -16 3
= 0+(-1)+0 2+(-2)+0 B+1+0 =/ -1 0 9
| 0+(-2)+9 4+(-4)+6  16+2+(-6) 76 12
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